SUMPOBRIEIANITOIS5 L

SEUMSD SuUMPO EPD —BAEE AV AT IR R
.. ,,,,, 54T INBESE (EPD) ST AR A 1-14-8
VERIFIED KANDA SQUARE GATE
FixE=S © JR-AlI-25462E https://ecoleaf-label.jp

FUJIHILM

Value from Innovation

BIJAIL EVRA A/R=Va kR al
FUJIFILM Business Innovation Corp.

| A3 1S — e

A3 Color Multifunction Printer
—— Apeos C3570 (Model-CPS-2TM)

= (for Europe)

Apeos. Apeos 07\ ApeosPro. ApeosPort . B&U ApeosPrint (&, BT/ AESHRS IR= A OEFEIEELEEIETT,
BEHNM BEHRES JR-AI-25462E
EAPCRES  PA-590000-Al-08
BRI EHEY
PCR#% EfRA H k2
HEMRERME N::1=| 202668 1H
| adv) O s B4 WIEEEH 2026538 10H
OFRMEERE @4 FE @FE OfEA - #iF MREEA R YATLEREE AR
OFEZE- Y1) RIAES 2025-FB-EL-106
WETAshEAR 203143898
HWROBEK, FELKR-FEx PCRLEI-DEHE
ity : Apeos C3570 (Model-CPS-2TM) REHZ 2023F 98 1H
FEMAH  h5-EAKE EPAR) ZER B Ex
ENRIERE : £/70 35ppm (A4 LEF) (FTE — ML EE A Y AT F )RS HEEEHEAS)
15— 35ppm (A4 LEF) FEZEHIRAE BEET
BAEFYALX © SRA3 (320 x 450 mm), NERIREES
12 x 18" (305 x 457 mm), A3
pUVIValaIrE=, ISO14025(HE1eARE & R UT —Y DRI LIARAE
il T F R A /ADF (R 8 B BhEtiA &) COREB WA R
*YRAT LRI R B ELENORIDB AR, YATLARIETo-EEED
ZEEH,

Bluahtse BEIAMIVLAESHRRAAIAR—S3>Ratt
EaEMAXAREHFSV6T HI1E
https://www.fujifilm.com/fb/

E#HF&ES © JR-AlI-25462E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO

1 \EPD

aaPAN

VERIFIED

BHES

1YV Bl R

JR-Al-25462E

SUMPORIESANITOIT A

SuMPO EPD —REHEEAY AT IV
S4TNBIBEE (EPD) BT A B AHE1-14-8
KANDA SQUARE GATE

https://ecoleaf-label jp

FREERR | BERE | ERE '@zgﬁ s
SELEH - 55 kg-CO2eq 6.67E+02 3.20E+01 1.04E+02 1.45E+02 1.36E+02
AV B E kg-CFC-11eq 6.09E-05 5.22E-08 2.42E-08 3.92E-06 1.74E-08
EXREL kg-PO43-eq 1.37E-02 1.18E-03 1.61E-04 5.41E-03 1.68E-04
ivged|a kg-SOzeq 2.05E+00 2.13E-01 6.92E-02 6.11E-01 1.40E-01
KALFEAEIIV kg-CzHieq 1.41E-02 3.81E-05 4.57E-04 1.11E-03 1.21E-03
FEEYME RS - $LY kg-Sbeq 7.88E-01 1.17E-04 1.18E-05 4.50E-02 2.41E-05

S1THLIIWAIRY Y 3 IREIEE R
—REROERCET31E1R

FRERE | WERE | AR '@zgﬁ s
BHATRE—RER - IRIF- (RPRy) M) 1.59E+03 2.69E+02 8.45E+00 6.69E+02 5.43E+01
BAETE—RERE - IRVE-2EHE (RPRy) MJ 1.37E+01 4.50E-03 2.16E+02 6.59E+02 1.18E-02
FEFETEE—RER - ITRILF¥- (NRPRY) MJ 1.15E+04 1.10E+03 1.18E+03 3.34E+03 7.34E+02
JEFE T —REE - TALE-2BHE (NRPRy) MJ 1.73E+03 3.41E-01 2.79E+00 2.55E+02 1.11E-01
RKKDHEEE m? 4.01E+00 2.69E-02 2.27E+01 6.96E+01 1.03E-02
HEBRICEAT2EMIER
A-OvN\EEEFEELTEELELE,
EAMEPHR)DEEYFUATEELTVET,
B RO EFE AR EMTT,
(B - MR ICB BRI EROETEEENE A,
ERBOEN . IRVF-25-T0TF LVer3 28 (SR> TCHE LETECIEZ TICEELELE,
- EENRIMELE. 182,400 T,
1/4 x 32 (J37/8) x 190 x 5 (B) x 4 (B) x 12 (7 B) x 5 (&) = 182,4004¢
Z Db DIRIEFDEEIR
IXNF-25-T0Y5LVer3.2 HE,
MRS LOYECE S 28RS EEYMECETZIER
-8 (ERIBS) Bifyy b= CAS No. ENE
E=pikifi 59 kg - - -
SuUS 1.0 kg - - -
TIVIZUA 0.85 kg
ZothERE 10 kg ERALEZRT-IDEZXS
T3AFvY 42 kg REAIE, LCIT-5N-2RIDEA Ver3.4, SUMPOREININTOIS L& FT -5
BN 0.63 kg Ver1.162EALTVEY,
AR 18 kg
R [ AR 14 kg -
it 5.1 kg
Z0ft 45 kg

@T-YEEDHEL. PCRELUVEE - ESHEESBL TR,
OLLEIIDVTE. BEE - EERBICRESNREEHB LSS LLARDONEEA,
(BEBSURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

